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<4.2> w, = 1.642 rad/s, w, = 2.511 rad/s

43> u = {0'9109} L up = {*0'1101}

0.916 cos(1.642 ¢) + 0.0841 cos(2.511 t)
0.833 cos(1.642 t) - 0.833 cos(2.511 t)

my 0
0 my

418 <4.1> [

<4.4> z,(t)
Ty (t)

<4.5> z,(t) = \{Fsin V2t +%sin2t . my(t) = %sin V2t —%sinZt
<4.6> w; = 0.316 rad/s, w, = 1 rad/s

47> x,(t) = %cos V2t , x,(t) = cosv2t .

Both masses oscillate at only one frequency.

k _ & _0.7676 _[—0.434
0.482,/72 L w, = 1.1981/J2 . —{ . } u —{ ) }

<4.9> w, = 0 rad/s, w, = 16.73 rad/s, w = {1} , W= {711}
<4.10> z,(t) = 0.05 - 0.05 cos16.73t , x,(t) = 0.05 + 0.05 cos16.73t
<4.11> w; = 0.674 rad/s , w, = 14.8 rad/s

<4.12> A= <4.13> A= <4.14> A=F

<4.8> w,

1.63 <1.68> =4 (=E) <1.69> A=
<1.70> E = 316%x10° N/m? <1.71> ¢ = 14500 N-s/m
<1.72> ¢ = 0.344 <1.73> A <1.74> ¢ = 13.9 N's/m

2.63 <2.56> A= <2.57> Ay=F <2.58> 28.8 % <2.59> AyeF



